KZN-DEPARTMENT OF EDUCATION
GREENBURY SECONDARY SCHOOL

JUNE EXAMINATION-2016
ACCOUNTING-GRADE 10
DURATION : 2 HOURS EXAMINER : A RAJOO
MARKS : 200 MODERATOR: CMAHARAJ

INSTRUCTIONS AND INFORMTION:

1. This question paper consists of 8 pages.

2. You are provided with a question paper and an answer booklet.

3. This question paper consists of Six compulsory questions. Answer ALL questions.
4. Use the format provided to answer the questions.

5. Workings must be shown in order to earn part-marks.

6. You must attempt to comply with the suggested time allocation.

7. Non-programmable calculators may be used.

8. You may use black/blue ink to answer the questions,

9. Use the information given in the table below as a guide when answering the questions.

QUESTION TOPIC MARKS | SUGGESTED TIME

1. SOURCE DOCUMENTS/ 40 24 MIN.
ACCOUNTING EQUATION

2. RECONCILIATION 45 27 MIN

3. SALARIES AND WAGES 30 18 MIN.

4., FINAL ACCOUNTS 55 33 MIN.

5, TANGIBLE ASSETS 15 9 MIN.

6. VAT AND PROBLEM 15 9 MIN.
SOLVING
TOTAL 200 120




QUESTION ONE: SOURCE DOCUMENTS/JOURNALS/TRANSACT ION
ANALYSIS = - o (40 MARKS; 24 MIN)

1.1 SOURCE DOCUMENTS AND JOURNALS : (10 mfnrks)
Prov1de the source document and qurnal fon each transaction. -

1.1.1 Purchased qtanonery and paid by cheque.

'1.1.2 Bank charges for the month.

1.1.3 Sold goods on credit to a debtor. | S
1.1.4 Returned goods to a creditor, :
1.1.5 Depreciation for the year.

1.2 Transaction analysxs " S - (30 marks)
- Analyse the following transactions according to the columns prowded on the specml
‘answer book. Assume b'mk is favourable. :

1.2.1 Received a cheque from a tenant for R 3.800.
1.2.20 A debtor A. Adam who owed R 3 000 was declared insolvent. HIS estate paid a
. dividend of 60 cents in the rand . Write off the balance. (2 entries)
1.2.3  The owner took goods for personal use , selling price R850 ; cost of sales R 650.
1.2.4 Packing material on hand at the end of the year; R 350.
1.2.5 A debtor P.Naidoo who owed R 960 was charged interest on his overdue acr'ount
at 10% p.a for 3 months. : :

QUESTION TWOQ: RECONCILIATION (45 MARKS; 27 MIN.)

'REQUIRED: Use the information givén below to:

2,1 Prepare the correct Debtors Control Account for July 2016. Balaﬁpe the account. (21)
2.2 Prepare the corrected Debtors List on 31 July 20 1‘6 K o q 5)

2.3 Are debtors being managed pr oper 1y‘7 Mention two pomts to substantme your answer.
Quote figures. . : ‘ - S (%)

2.4 List two internal control measures that can be applied to ensure that debtors pay their
account on time, - : 4




INFORMATION:

The following information was taken from the accounting records of Gumede Traders.
The balance of the Debtors Control in the General Ledger and Debtors List does not
correspond on 31 July 2016.

1 Debtors Control

2016 { 1 | Balance b/d | 17100 | 2016 | 31 | Sales DJ | 40200
July July
31 | Bank CRJ | 10520 . | Bank CPJ | 5080
Debtors DAJ | 12000 .| Sundry GJ 690
allowance accounts '
Discount allowed | CRJ 750 . | Balance ¢/d ?

Sundry accounts | GJ | 3 000

2. Debtors List on 31 July 2016.

T.Tenza 18 440

N.Ntuli 16 900

S.Shaka 8 000

D.Dumi 500 credit
?

3. After investigating , the following errors and omissions were identified.

3.1 The Debtors Allowances journal was overcast by R 100,

3.2 An amount of R 1 320 received from T.Tenza was recorded correctly in the journal
but was not posted to his account in the subsidiary ledger.

3.3 Credit note no. 286 for R 1 900 was issued to N.Ntuli. This was entered as R 190 in
the relevant journal and posted as such.

3.4 S.Shaka account was overdue for 3 months. No entry was made for the interest of
R 300 to be charged on his overdue account.

3.5 There was no entry for the transfer of the account of Dumi from his account in the
debtors ledger to his account in the creditors ledger.

3.6 Goods sold to T.Tenza was posted to the account of N.Ntuli, R 1 400.




- QUESTION THREE: SALARIES AND WAGES (30 MARKS; 18 MIN.)
The 'followin'g totals appeaf in the wage journal of Save — rite Stores for the week ended
30 June 2016. All employees are paid the same rate-R 25 per hour for normal time and R
30 per hour for overtime. :

REQUIRED:

3. 1 Caloulate the gross wage for the wéek. ' o (5
3 2 How much cash must be withdrawn in order to pay the net wage of the employees? 4)
.33 What percentage of deductions represents gross wage? . : 2) -

3 4 On what bams docs the busmesg contribute tOW&I’b

*3.4.1 Pension Fund | ‘ . : : ' : 2)
3.4.2 Medical Aid Fund . v . : (2)

3.5 To which ledger account is the net wagb po%ted Also indicate Whethel the account
must be debited or credited. . . : _ , 3

3.6 Assume that the medical aid details have not changed ‘during the four weeks in

June 2016. Calculate the amount that must be paid to the Medical Aid Fund on

”%() June 2016, . ' ‘ 4
3.7 State the double entry for the Pension fund contributions made by the employer,  (2)
3.8 What is the effect of the above (3.7) entry.on the accounting e@uatioh? (2)

3.9 Save-rite Stores employs a number of people. The owner is finding it difficult to
monitor the time employees arrive at work. Mention two strategies the owner can

implement to solve this problem., , o (4)
INFORMATION: \ | -
Totals in the wages journal for the week ending 30 June 2016
Total hours (normal time) ‘ 2 000 hours
Total hours (overtime) - | 200
Gross wage | ?

Deductions, . N
Pension fund ‘ 3920
Medical aid fund 2 800
UIF | | 560
PAYE 14 000
Contributions |

Pension fund ' 3 920
Medical aid fund 5 600
UIF 560




QUESTION FOUR : FINAL ACCOUNTS (55marks; 33 min.)
REQUIRED:

4.1 Prepare the Final Accounts in the General Ledger of UKZN Traders on the last day
of the financial year, 28 February 2016.

e Trading Account (13)
e Profit and loss Account (40)

4.2 Briefly explain the following GAAP concept: Matching Principle. )

INFORMATION:

Pre-Adjustment Trial Balance of UKZN Traders on 28 February 2016.

Capital 210 000

Drawings 15 600

Vehicles 190 000

Equipment 45 000

Accumulated depreciation on vehicles 55 000

Accumulated depreciation on equipment 10 000

Trading stock 80 100

Bank 25 500

Fixed deposit: Big Bank (12 % p.a) 80 000

Creditors control 30 200

Sales 601 000

Cost of sales 264 400

Debtors allowance 13 900

Rent income 79 950

Insurance 15 080

Packing material 4170

Water and electricity 9 600

Rates 3 400

Salaries and wages 60 200

Telephone 1 500

Interest on fixed deposit 5900

Bad debts 520

Stationery 1 950

Discount allowed 425

Discount received 900




ADDITIONAL INFORMATION AND ADJUSTMENTS:

L.

2.

Goods sold on credit to a debtor was not recorded, R 2 900. Cost of sales R 1 600.

Included in the insurance is an amount of R 560 that was paid for the period
1 January 2016 to 30 April 2016.

Stocktaking revealed the following stocks on hand on the 28 February 2016:
e Trading stock R 75000
e Packing material R 370

The following accounts were received but not yet paid:
* Water and electricity R 1400
* Rates R 900

The rent for March 2016 has already been received.
Note: The rent was increased by R 650 with effect from 1 January 2016.

Provide for outstanding interest on fixed deposit.
Write off the debt of a debtor as irrecoverable, R 270
Stationery prepaid . R 480

Depreciation must be provided for as follows:
¢ on equipment at 10% p.a on cost
» on vehicles at 15% p.a on carrying value.




QUESTION FIVE: TANGIBLE ASSETS (15 marks; 9min.)

Refer to the Fixed Asset Register of Take ‘n Pay Stores and answer the questions that follow.
The financial year ends on 30 June 2016.

FIXED ASSETS REGISTER- Take’n Pay Stores

General ledger account: Vehicles Date Purchased: 1 July 2014
Item: Toyota 2.5 Hilux TDI Bought from: McCarthy Motors
Depreciation policy: 10% p.a on carrying value Cost Price: R 480 000

Year Cutrent depreciation | Accumulated Depreciation | Carrying Value
30 June 2015 48 000 48 000 ?
30 June 2016 ? ? ?
5.1 Calculate the carrying value on 30 June 2015, 3)
5.2 Calculate the depreciation for the year ended 30 June 2016. (3)

5.3 Provide the account to be debited and credited for the above calculation(5.2) (2)
5.4 What is a Fixed Asset Register? 2)
5.5 Explain how the Fixed Asset Register assists the internal auditor in his duties. (2)

/5.6 Mention two internal control measures that should be implemented to prevent
abuse of vehicles, )

5.7 What is the least possible carrying value a tangible asset can have? - (1)



QUESTION SIX: VAT AND PROBLEM SOLVING  (15marks; 9min.)

6.1 VALUE ADDED TAX:

REQUIRED:
Match the concepts in Column A with the descnptmn in Column B. Write only the letter
corresponding to the description,

(M

No., | Column A-Concept ' Col-umn B- D,escription
6.1.1 | Compulsory Registration | A | The normal rate at which VAT is charged when
‘ - | goods or services are rendered by a registered
: VAT vendor
| 6.1.2 | Standard Rate B | Charged by a business when it sells or renders a
- _ | service. ‘ _
6.1.3 | Output Tax C | VAT registration by a business whose annual
: | turnover exceeds R 1 million,
6.1.4 | Zero Rate D | VAT charged by a busmess acquiring goods and
| services,
6.1.5 | Voluntary Registration  |'E | VAT cannot be.charged on thj’.s category.
6.1.6 | Exempt Items F | VAT charged at 0% on goods and setvices.
6.1.7 | Input Tax. G | VAT regmtrauon by abusiness whose annual
tumovol is less than R 1 mllhon
6.2 PROBLEM SOLVING:
6.2.1 Calculate the interest on loan for the year. - . “ 4)

- 6.2.2 Providé the accounts to be debited and c¢redited for the interest on loan. 2)
6.2.3 In which journal would you record the above entry. (6.2.2) @
INFORMATION:

| Balance on 1 January 2016 610 000
Interest is capitalised _ 7 277

| Monthly repayments of R 3 500 were made during the year v
Balance on 31 December 2016 590 000

GREENBURY SECONDARY SCHOOL

DEPARTMENT OF COMMERCE
H.0.D. MRS C MAHARAJ
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QUESTION ONE;:

No.

Source Document

Journal

1.1.1

1.1.2

1.1.3

10

1.1.4

1.1.5

1,2 Transaction Analysis

No.

Account Debit

Account Credit

Amount

1.2.1

1.2.2a)

1.2.2b)

1.2.3

1.2.4

1.2.5
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QUESTION TWO: RECONCILIATION

DEBTORS CONTROL

21
2. DEBTORS LIST ON 31 JULY 2016.
15
2.3 Are debtors being managed properly? Mention two points to substantiate your
answer, Quote figures.
5

2.4 List TWO internal contrel measures that can be applied to ensure that debtors
pay their account on time,

®
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QUESTION THREEF: SALARIES AND WAGES

3.1 Calculate the gross wage.

3.2 How much cash must be withdrawn in order to pay net wages of the employees?

3.3 What percentage of gross wage represents deductions?

2
" 3,4 On what basis does the business contribute towards:
‘ ' Pension fund:
3.4.1
Medieal aid fund: - 4
3.4.2

3.5 To which ledger account is the net wage posted. Also indicate the accounts that
must be debited and credited. '

Name the ledger account:

Account debit

Account credit

Page 4 of 8




3.6 Assume that the medical aid details have not changed during the four weeks in
June 2016. Calculate the amount that must be paid to the medical aid fund on

30 June 2016.

3.7 State the double entry for the Pension Fund contribution made the employer.

Account debit

Account credit

3.8 What is the effect of the above (3.7) entry on the accounting equation.

A

0

L

owner can implement to solve this problem.

3.9 Save-rite Stoi‘es’employees a number of people. The owner is finding it difficult
to monitor the time employees arrive at work. Mention TWO strategies the

Page 5 of 8
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QUESTION FOUR: FINAL ACCOUNTS

Rl

TRADING ACCOUNT

5] (0

PROFIT AND LOSS ACCOUNT

')A

Page 6 of 8
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4.2 Briefly explain the following GAAP concept: Matching Principle,

QUESTION FIVE: TANGIBLE ASSETS 55

5.1 Calculate the carrying value for 30 June 2016.

5.2 Calculate the depreciation for the year ended 30 June 2016.

5.3 Provide the account to be debited and credited for the above calculation.(5.2)

Account debit

Account credit

5.4 What is a fixed assets register?

5.5 Explain how the Fixed Assets Register assists the internal auditor in his duties.

Page 7 of 8



5.6 Mention two internal controls that should be implemented to prevent the abuse of
vehicles.

5.7 What is the least possible carrying value a tangible asset can have?

QUESTION SIX: VALUE ADDED TAX }5
6.1

6.1.1

6.1.2

60103

6.1.4

6.1.5 7

6.1.6

6.1.7

6.2 Problem solving:
6.2.1 Calculate the interest on loan for the year.

6.2.2 Provide the accounts to be debited and credited for the interest on loan.
Aceount debit '

Account credit 2

6.2.3 In which journal would you record the above entry. (6.2.2)

ﬁé’ﬁfv SECONTIARY SCHOOL
DFPARTMEL (R ‘)\QMLRLE

)
R M., MRS G st ARAY
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QUESTION ONE:

No. Source Document Journal
LLL| cljepue coynTErRFoiLL V] crT /]
L12 | BANK STATEMENT // el lo
L13 |UPLICATE CRENIT SALES //\/vo/o’?/ AT 10
L14 | DEGIT NOTE I AT S
1.15 | ToURKAL Vou cHER. 7T gF Vv
‘ 1.2 Transaction Analysis 7
No. Account Debit Account Credit | Amount A O/ L
L2 [ sk (et weome/| 5800 |+ F
1220) | pANK /| nepms c@umf{:’ /800" // ;’fjo“/ o, ©
1.2.2b) | gAY pee7s v |nesmorg cwr/za/u/ j200” | -/ 2 | o
. S b | /! / //'
123 | pRAWING S /| TaAdioG ol ss¢/ | - ¥ | &
o / / 4 /
124 | consunnngre V| phecivg sy 350 | | | O
STeRES 0 AR
il A 4 Jm/
125 | peprows Conrpral | INTERECT INCBAE| 247 | +7] + | ©
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QUESTION TWO: RECONCILIATION

DEBTORS CONTROL ,
Fory| 1| BALANCE »”/d I'7 505/,7%7 3| BANK s | o S 26, )
311 SALES bI| 40 720 p o {NscoudT ALLowdgd |ceT 750‘//
bANK el 5 oadf |- Dég‘TvﬂyA(_LaL\\j?Léf Y AR ‘?oo/
Suisy, My s ls1| 5 2004 (17000 = loo)" 2
[ N /f
(2000 "+ zo;f 500 (fauﬁ//,%‘fr P He s 67| 3 8eov
. 69574 170 +
k+ﬂ400> 77 17/0 1400 b/
+1400) gamoce |G| 4o ¢io
) LT s8o G7 S80
Thug| 1| BrAICE %[ 4o éiop)
(W
TR
2]
2. DEBTORS LIST ON 31 JULY 2016, ./ )
- . |
T. TEN ZA ('QM?/ 329 %/4?9) 18520 1,
N wTUL) (16900 (710, 1400) | 12 790 P
S . SHAUA (fovo #300)/ 8 200 .
b.dbUm | (—5e0 +Zoo) ) -
40 C,w"/
2.3 Are debtors being managed properly? Mention two points to substantiate your
answer. Quote figures. 7
NOY b8 juna e MGH AT R 11900 P
- DISHOMOURED  CHEWVGL 111GH AT - K§oBo
o CREDIT (ALES [HGH - R40000 - CollEcTion]d/ g
Lo Rioszeo | 26 L ¥ bEBTHKS PAYIG 5

AWY Twse

2.4 List TWO internal control measures that can be applied to ensure that debtors
pay their account on time.

/L
(4

o CHARGE INTER 64T oI oy ee b AT

o ALUNS BICOUNTL foR EARLY PAMAEIT 4/

AT oTiRR )
( L4 [ 4 ]
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QUESTION THREE: SALARIES AND WAGES

3.1 Calculate the gross wage.

/I
NORMAL TIME © 9006 X P95 = 50 oo W
OVERTINE & 4eo %R30 = € ool

Grosc WHGE = 56 ecc)

3.2 How muclyCash must be withdray%in order to pay net wages of the employees?

56000 - 3920 ~ 2800 ~Sk0 ~ [4000

4

= 24 720 Ve 4
3.3 What percentage of gross wage represents deductions?
;AC*L)UC'T(WS’ X./@O ) ‘Q/QQO N oD : ‘//
GRDES W AGE P Scoeoo’ [T Z Z
2

3.4 On what basis does the business contribute towards: /,

"™ Pension fund: Z/’I/Nb A /{/17‘-’40

Medical aid fund: BUi¢ /3 650 ComTR) BUTEL])

3.4.2 29 For gVery R bEDU T €D

3.5 To which ledger account is the net wage posted. Also indicate the accounts that

must be debited and ¢r edited.

Name the ledger account: (R EDITORA FO:’Q (WA G éf/

Account debit VJA G E g . ‘/
CREPITors For, WAGES 7

Account credit

Page 4 of 8
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3.6 Assume that the medical aid details have not changed during the four weeks in
June 2016. Calculate the amount that must be paid to the medical aid fund on

30 June 2016 / / /m 7
( 2800 +56@o>><4» 033656 y

3.7 State the double entry for the Pension Fund contribution made the employer.

<

17 - v
Account debit PENSION AIOD Cou T £ UT/()'U >3
(Vg
2

Account credit p au s e Wwﬁ
3.8 What is the effect of the above (3.7) entry on the accounting equation.

A o V/ L ]/ 2

O - -+ 2

3.9 Save-rite Stores employees a number of people. The owner is finding it difficult |
to monitor the time employees arrive at work. Mention TWO strategies the ?
owner can implement to solve this problem.

. horonyr A SupR IR

s IMILEMEIT A Cloel cﬁﬂ@/ 4
098 TEM “
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QUESTION FOUR: FINAL ACCOUNTS

~/ TRADING ACCOUNT %
v v 4 V4
reo | 76 | GosT oF Shies | 266 o ||feg |20 SAES T 590 o6
(264 400"+ 1600) ,A [ (601 000+ 2900
C ) 1% - 13 900)
, / NEA~ 7
* | Prorry 4 Losg 324 00O
| 3% o0 @ S90 6o
i3 13 (
PROFIT AND 1LOSS ACCOUNT /7
INSUR fy) CE e 77
feg |28 | (15080 X“Zféé/) 14 B0 |\Fep (28| TRADIV G AccounT 324 ‘m,,é
f@;%ﬁ srocs £ 50045', ReuT INCorag/ 12 %o
PACIKIS B MATGYM 79 960 — 6650)
( 4/70“??37@) A 800/ ( ) )
A 7 -
S ige0) S| | 11 ewd T Re T 0F /7P 9 bos
ATES | ' ! A
YT fd) || | ||t ~
@(A;) %g it ;r§o“)/ 796 Ms CounsT RECEIVED Joo
CTATIONERY A
(960~ 480 | 470 (
DEGREIA N A/ Z| L
( 4800 420750 y | 24 7566/
| Shumies 60 7200”
| -~ | i
MSE. Allaw &) 426
TeLE PHONY 1500 A
, —— R
T INR) | 1816
|| 407 boo 40T 800
| 40 | 40
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4.2 Briefly explain the following GAAP concept: Matching Principle.

INCOME MIb 6o PadSes #ULT BE AMMATLHED

To THe (oRReet puind cite PeRIoP e

QUESTION FIVE: TANGIBLE ASSETS

3.1 Calculate the c'uyylng valueAor 30 June 2016, /

480 600 < 480 = £ 432 o

5.2 Calculate the gépreciatioh for the year ended/SO June 2016.
v

/0

4
437 €00 X 4o = £ 42 260

£
3

5.3 Provide the account to be debited and credited for the above calculation.(5.2)

DEPRE CIA T v/

Account debit ‘// 2
Account credit A cC. DC’F or \/C/WCLQS 2
5.4 What is a fixed assets register?

A Fixé@ AsSETS REGIKTER 1S A RéEdocH)

OF ML Tig TAJGIBLE ALCET( oF A 7;

BUSINELS 1e TYFE | BATE PLUA CHALED

2 /2
METHOD (F DEPRECGATION ¢T¢C . U

5.5 Explain how the Fixed Assets Register assists the internal auditor in his duties.

IT HePS VervYFN  THE P/f'wucﬂ//

Counlt WITH THE RECORY)

2
2
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5.6 Mention two internal controls that should be implemented to prevent the abuse of

vehicles, ‘//
2
| Vémues 7o 26 Freied ond BuSid 6y, ﬁzwme«f :
. KEP MILERGE RE WAL v

MOWITST. FUEL CAdCUMPTION 7 ()

5.7 What is the least possible carrying value a tangible asset can have?

RIS :

QUESTION SIX: VALUE ADDED TAX

6.1 S
6.1.1 C 4 P
oiz | AV,
6.1.3 6 Vv ' |
6.1.4 F / T
6.1.5 G v 7
6.1.6 £ v
6.1.7 D v
0.2 Problem solving
6.2.1 Calculate the in 1est on lo,g;x(( 4 the year. /
590 poo 4+ (200 X1 ) — £10 000 S
5
= [ 77 oo @
6.2.2 Provide the accounts to be debited and credited for tl;,eﬁntel est on loan.
Account debit TR T 072&}’ - N0 C(/M} ) 5
Account credit L O M (,/ 2
6.2.3 In which journal would you record the above entry. (6.2.2) -
: . g
CENERAL TOoURNAL z/ —
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